Math 2432 – 100
Spring 2013 – Test 2 – Part I
NO electronic devices may be used during Part I of the test. 
Show all work in Blue Book. Please label work.
Answers without any work or explanation may receive only partial credit or no credit at all.
All questions are 2 points each except where noted.
For #1-2, clearly and completely sketch the region and set-up the integral ONLY.

1. Find the volume of the solid formed by revolving the region enclosed by 
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about the x-axis.
2. Find the volume of the solid formed by revolving the region enclosed by 
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, y = 0, y = 1, x = 0 in Quadrant I about x = –1.

3. Evaluate one (1) of the integrals from #1-2. 
[If two are completed, then only the first written in Green Book will be graded.]
4. 
a. (1 pt) Find the average value of 
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on [–1, 2].
b. (2 pts) Use the Mean Value for Integrals to find c such that f(c) = favg.
5. Find the area of the region enclosed by the curves 
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6. (3 pts) Find the center of mass of the region enclosed by the curves 
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 and x-axis on 
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7. Set-up the integral to find the length of the parametric curve 
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Do NOT evaluate the integral.

Math2432 – 100
Spring 2013 – Test 2 – Part II

NAME ____________________________________________________________

Show all work. Please show your work and answers clearly.

Answers without any work or explanation may receive only partial credit or no credit at all.

TI83/84/86/89 and Mathematica may be used by you to assist you with the work.
Provide answers to 4 decimal places.

8. Estimate the length of 
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 using T10.

9. A cable that weighs 4 lbs/ft attached to a bucket filled with coal that weighs 500 lbs. The bucket is initially at the bottom of a 700 ft mine shaft. Determine the amount of work required to lift the bucket all the way up the shaft.
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